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Time : 3 hours ' Max. Marks : 75

PART-A

>§ -2
Answer FIVE questions from the following.

B0 06> [SHohH SArgrEiven @i,
(Marks : 5 x 10 =50)

1. (a) Whatare the: major- uses of labour economics to an economy?

2% B8 S556° a8 eleisin Au, S5 aS@rme 3380508,

Or

(b)  What are the major characteristics-of labour as a factor of production'.;
868 o @50 Ay, B oferoin S8yoS0d.
2, (a) Define labour:market. Explain main features of labour markets.
| D08 5745 255000, EP20E D745 B, Boas oferersy 5380508,
Or

(b) * Define demand for labour. What are the main determinants of demand for labour?
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National Wage Policy?
esisHER0 SOY0DI.

What is the importance and need of the

> 365 agrido Gl @siwgsi 206
Or

Explain the factors that affect wage differentials.
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Define labour productivity. Explain the importance of labour productivity,
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Or
Explain how to increase the labour productivity? .
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Why the state intervention is necessary in industri ol relations?
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Or
Explain labour welfare measures provided by Indian Government.

PART-B

>f -0
Answer any FIVE questions from the following.
J50 D0 (50 SSrprEive .
(Marks : 5 x 5 = 25)

Nature of labour economics.'
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Unorganized labour.
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10.
11,
12.

13,

Importance of wage policy.
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Collective Biujgaining.
Saoy Boren.

Labour social security.
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Wage differentials.
Labour productivity.
F0E aon)SEs.

Main factors of production.
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